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 B. Com. (Part II) EXAMINATION, 2021 

(New Course) 

(Group—II) 

Paper First  

COST ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lkexzh fu;a=.k ls vkidk D;k vk’k; gS \ blds mís’;ksa o vk/kkjHkwr 

fl)kUrksa dk o.kZu dhft,A 

What is meant by material control ? Describe its objectives 

and basic principles.  

vFkok 

(Or) 

vxzfyf[kr fooj.k ls ßckn esa vkuk igys tkukÞ i)fr ls lkexzh ds 

fuxZeu dk ewY; Kkr dhft, % 
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lkexzh izkfIr 

frfFk 2018 bdkb;k¡ 
nj izfr bdkbZ 

(`) 

Qjojh 10 200 12.00 

Qjojh 15 300 14.00 

Qjojh 25 400 15.00 

Qjojh 28 100 16.00 

lkexzh fuxZeu 

frfFk 2018 bdkb;k¡ 

Qjojh 3 300 

Qjojh 12 100 

Qjojh 14 200 

Qjojh 18 200 

Qjojh 26 400 

1 Qjojh] 2018 dks vkjfEHkd LVkWd 400 bdkb;k¡ ` 11 dh nj ls 

FkkA 

From the following information, find out the price of the 

material issued on “Last in-first out” method : 

Material Received 

Date 2018 Units 
Rate Per Unit  

(`) 

Feb. 10 200 12.00 

Feb. 15 300 14.00 

Feb. 25 400 15.00 

Feb. 28 100 16.00 
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Material Issued 

 Date 2018 Units 

    Feb. 3 300 

    Feb. 12 100 

    Feb. 14 200 

    Feb. 18 200 

    Feb. 26 400 

On 1st Feb., 2018 the opening stock was 400 units valued at 

` 11 per unit. 

bdkbZ&2 

(UNIT—2) 

2- izsj.kkRed etnwjh Hkqxrku i)fr;k¡ dkSu&lh gSa \ muesa ls fdUgha rhu 

dks la{ksi esa le>kb,A 

What are the incentive wage payment methods ? Explain any 

three in brief. 

vFkok 

(Or) 

ß,eÞ rFkk ß,uÞ nks lsok foHkkx gSa vkSj muds mifjO;; dk tksM+  

` 7]500 rFkk ` 5]000 gS tks vkxs pkVZ esa nh xbZ izfr’krksa ds vk/kkj 

ij var%lsok foHkkx ij vfHkHkkftr fd, tkrs gSaA ^v*] ^c* rFkk ^l* 

foHkkx ds dqy mifjO;; Kkr dhft,A ^v*] ^c* RkFkk ^l* dk ;ksx 

vfHkHkktu ds iwoZ Øe’k% ` 10]000( ` 11]250 rFkk ` 8]750 gS % 
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 mRiknu foHkkx lsok foHkkx 

foHkkx v c l ,e ,u 

,e 30% 40% 20% – 10% 

,u 30% 30% 30% 10% – 

Let M and N be two service departments with respective 

total ` 7,500 and ` 5,000 of overhead to be apportioned on 

interservice department on the basis of percentage given in 

the chart ahead. 

Find out the total overhead production department A, B and 

C assuming that total of A, B and C being ` 10,000; ` 11,250 

and ` 8,750 respectively before distribution : 

 Production Deptt. Service Deptt. 

Department A B C M N 

M 30% 40% 20% – 10% 

N 30% 30% 30% 10% – 

bdkbZ&3 

(UNIT—3) 

3- fdlh dkj[kkus esa X rFkk Y nks oLrqvksa esa ls izR;sd dh 500 bdkb;k¡ 

mRikfnr dh tkrh gSaA mRiknu dh ykxr fuEufyf[kr gS % 

 X (`) Y (`) 

izR;{k lkexzh 15,000 12,000 

izR;{k etnwjh 9,000 6,000 

izR;{k O;; 1,000 1,000 
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vizR;{k O;; bl izdkj gSa % 

(i) dkj[kkuk O;; ` 7]500 

(ii) dk;kZy; O;; ` 3]090  

;fn fcØh ij 20% ykHk gksrk gS] rks izR;sd oLrq dk foØ; ewY; D;k 

gksxk \ 

In a certain factory 500 units of the two commodities „X‟ and 

„Y‟ are manufactured. The cost of production are : 

 X (`) Y (`) 

Direct Materials 15,000 12,000 

Direct Wages 9,000 6,000 

Direct Expenses 1,000 1,000 

Indirect expenses are as follows : 

(i) Factory Expenses ` 7,500 

(ii) Office exp. ` 3,090  

If a profit of 20% on sales is to realised, what would be the 

selling price of each article ? 

Or 

¼vFkok½ 

fuEukafdr O;; ,d dkaVªsDVj }kjk Bsdk Øekad 313 ds fy, fd, x, 

gSa tks fd 1 tuojh] 2020 dks izkjEHk fd;k x;k Fkk % 

 ` 

lkexzh 30,000 

etnwjh 70,000 

Iyk.V ykxr ij 40,000 

LFkkiuk O;; 5,000 
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vU; O;; 8,000 

izekf.kr dk;Z 1,10,000 

vizekf.kr dk;Z 6,000 

31 fnlEcj] 2020 dks gLrLFk lkexzh 11,000 

LVkslZ dks okil dh xbZ lkexzh 3,000 

var esa Iyk.V ¼31 fnlEcj] 2020½ 35,000 

Bsdknkrk ls izkIr jksdM+ 99,000 

Bsdk [kkrk rFkk pkyw dk;Z [kkrk cukb, rFkk fn[kkb, fd fpës esa 

dk;Z pkyw n’kk fdl izdkj fy[kh tkrh gSA Bsdk ewY; ` 2]50]000 

FkkA 

The following expenses were incurred by a contractor in 

connection with the Contract No. 313 which was started by 

him on 1st January, 2020 : 

 ` 

Materials  30,000 

Wages 70,000 

Plant at cost 40,000 

Establishment charges 5,000 

Other expenses 8,000 

Work certified  1,10,000 

Work uncertified 6,000 

Materials in hand on 31st Dec., 2020 11,000 

Material returned to store   3,000 

Plant at the end (31st Dec., 2020) 35,000 

Cash received from contractee 99,000 

Prepare Contract Account and Work-in-progress A/c and 

show how work-in-progress will appear in balance sheet. 

Contract price was ` 2,50,000. 
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bdkbZ&4 

(UNIT—4) 

4- ,d rsy’kks/kd dkj[kkus esa mRikn rhu fHkUu izfØ;kvksa easa vxzlj gksrk 

gSA vxzfyf[kr lwpuk tuojh 2021 ekg dh miyC/k gS % 

 ihM+u 

(`) 

‘kks/ku 

(`) 

lekiu 

(`) 

dPph lkexzh ¼500 Vu 

[kksijk½ 2]25,000 – – 

ikfjJfed 8,000 5,900 5,875 

‘kfDr 1,200 1,000 1,500 

fofo/k lkexzh 500 1,900 – 

dkj[kkuk O;; 600 1,000 950 

lekfir rsy laxzg <ksyksa dh ykxr ` 21]025 FkhA 200 Vu [kyh dh 

dsd ` 15]000 esa csph x;h rFkk 275 Vu dPpk rsy izkIr fd;kA 

ihM+u izfØ;k ds fofo/k mRiknksa ls ` 900 feysA rsy ds ‘kks/ku i’pkr~ 

miksRikn 20 Vu ` 900 ds csps x, rFkk 250 Vu la’kksf/kr rsy izkIr 

fd;k x;kA 240 Vu lekfir rsy] <ksyksa esa Hkj fn;k x;k rFkk 10 Vu 

` 1]200 esa cspk x;kA bl vof/k ds dk;kZy; O;; ` 3]500 gq, tks 

rhu izfØ;kvksa dks 3 % 2 % 2 ds vuqikr esa pktZ fd, tkus gSaA izfØ;k 

[kkrs rS;kj dhft,A 



 [ 8 ] E–3030 

In an oil refinery the product passes through three different 

processes. The following information is available for the 

month of January, 2021 : 

 Crushing 

(`) 

Refining 

(`) 

Finishing 

(`) 

Raw material (500 

tons of Copra) 2,25,000 – – 

Wages 8,000 5,900 5,875 

Power 1,200 1,000 1,500 

Sundry Materials 500 1,900 – 

Factory Expenses 600 1,000 950 

Cost of drums for storing finished oil was ` 21,025. 200 tons 

of cake were sold for ` 1,50,000 and 275 tons of crude oil 

were obtained. Sundry byproduct of the crushing processes 

fetched ` 900. Byproduct after refining the oil was sold 

20 tons for ` 900 and 250 tons of refined oil were obtained. 

240 tons of finished oil were stored in drums and 10 ton 

were sold for ` 1,200. The establishment expenses for the 

period amounted to ` 3,500 which are to be charged to the 

three processes in proportion of 3 : 2 : 2. Prepare the Process 

Accounts.  
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vFkok 

(Or) 

,d ;krk;kr lsok dEiuh nks uxjksa ds chp] tks ,d&nwljs ls 

50 fdeh- dh nwjh ij gSa] 4 clsa pyk jgh gSA izR;sd cl esa cSBus dh 

{kerk 40 ;k=h gSA vizSYk 2020 dk fuEufyf[kr fooj.k mudh iqLrdksa 

ls fy;k x;k % 

 ` 

Mªk;oj o Dyhujksa dh etnwjh 1,400 

daMDVjksa dh etnwjh 1,000 

vkWfQl LVkWQ dk osru 1,200 

Mhty vkW;y o vU; vkW;y 3,800 

ejEer o vuqj{k.k 900 

dj ,oa chek 1,500 

kl 2,600 

jksM yk;lsal ‘kqYd izfro”kZ 500 

C;kt o vU; O;; 1,500 

;k=h tks okLro esa ys tk;s x,] cSBus dh {kerk ds 75% FksA lHkh 

pkjksa clsa ekg ds leLr fnu pyrh gSaA izR;sd cl us izfrfnu ,d 

iwjh [ksi dhA izfr ;k=h fdeh- ifjO;; Kkr dhft,A 
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A Transport Service Company is running 4 buses between 

two towns which are 50 km apart. Seating capacity of each 

bus is 40 passengers. The following particulars are obtained 

from their books for April, 2020 : 

 ` 

Wages of drivers and cleaners 1,400 

Wages of conductors 1,000 

Salaries of office staff 1,200 

Diesel oil and other oil 3,800 

Repairs and maintenance 900 

Taxation and Insurance 1,500 

Depreciation 2,600 

Road Licence fee per year 500 

Interest and other charges 1,500 

Actual passengers lorried were 75% of the seating capacity. 

All the four buses run on all days of the mouth. Each  

bus made one round trip per day. Find out the cost per 

passenger km. 

bdkbZ&5 

(UNIT—5) 

5- ifjO;; ys[kksa rFkk foŸkh; ys[kksa ds lek/kku ls vki D;k le>rs gSa \ 

nksuksa izdkj ds ys[kksa }kjk fn[kk, x, ‘kq) YkkHkksa esa vUrj ds eq[; 

dkj.kksa dks le>kb,A 
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What do you understand by reconciliation statement at cost 

account and financial accounts ? Explain the main reasons 

for the difference in the net profit shown by the two sets of 

accounts. 

vFkok 

(Or) 

,d dEiuh viuk mRikn ` 15 izfr bdkbZ dh nj ls csprh gSA ,d 

vof/k esa ;fn og 8000 bdkb;ksa dk mRiknu vkSj foØ; djrh gS] rks 

` 5 izfr bdkbZ dh gkfu gksrh gSA ;fn ek=k 20000 bdkb;ksa rd c<+k 

nh tk,] rks ;g ` 4 izfr bdkbZ dk ykHk vftZr djrh gSA ` vkSj 

bdkb;ksa esa le&foPNsn fcUnq dh x.kuk dhft,A 

A company sells its product at ` 15 per unit in a period. If it 

produces and sells 8000 units it incurs a loss of ` 5 per unit. 

If the volume is raised to 20000 units it earns a profit of ` 4 

per unit. Calculate break-even point both in terms of rupees 

as well as in units. 
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